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QUESTION 1

The pins on an RJ-45 cable plug are numbered from 1 through 8. When the metal pins of the plug are facing toward
you, pin 1 is the leftmost pin. Which two sets of pins are looped on an RJ-45 56K loopback plug? (Choose two.)

A.pins2and 7
B. pins 2 and 8
C.pins2and 5
D.pinsland 7
E. pins1and 4

Correct Answer: CE

QUESTION 2

What are two purposes of a USB thumb drive? (Choose two.)
A. to save the system log

B. to copy configuration files to and from a PC

C. to save router hardware information

D. to copy 10S images to and from a PC

E. to increase system memory size

Correct Answer: BD

QUESTION 3

Which device is a DTE device?
A. CSU/DSU

B. router

C. cable modem

D. DSL modem

Correct Answer: B

QUESTION 4
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Which two IPv4 addresses can be assigned to a host computer? (Choose two.)
A. 255.255.255.255

B. 10.1.1.20

C.0.0.0.0

D. 192.168.10.15

E. 292.10.3.4

Correct Answer: BD

QUESTION 5

Which address facilitates the routing of packets over an IP network?
A. physical

B. transport

C. network

D. MAC

Correct Answer: C

QUESTION 6

What are two components of a WAN connection? (Choose two.)
A. CSU/DSU

B. router

C. bridge

D. hub

E. switch

Correct Answer: AB

QUESTION 7
What does Cisco use for Return Materials Authorization tracking of field-replaceable parts?
A. product number

B. serial number
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C. RMA number
D. FRU number

Correct Answer: C

QUESTION 8

From the enable mode, which command loads the configuration during the password recovery process on a Cisco
router?

A. load_helper

B. configure terminal

C. copy running-config startup-config
D. copy startup-config running-config

Correct Answer: D

QUESTION 9

Which Xmodem option is used to enhance error checking of an image that is copied to flash memory?
A. -e

B.-r

C.-c

D. -x

Correct Answer: C

QUESTION 10

TFTP is a simple protocol for transferring files, such as a Cisco 10S or configuration file, from one device to another.
Which device can be configured as a TFTP server?

A. Cisco Content Engine
B. modem

C. Cisco router

D. CSU/DSU

Correct Answer: C
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QUESTION 11

Which protocol does TFTP typically use for transport?
A. RSVP

B. TCP

C.HTTP

D. UDP

Correct Answer: D

QUESTION 12

Which command initiates the copying of a Cisco 10S image to a Cisco device?
A. copy tftp nvram

B. copy tftp flash

C. copy flash tftp

D. copy xmodem flash

Correct Answer: B

QUESTION 13

What is the correct IPv6 address notation?

A. 2001:0DB8::/128

B. 2001:0DB8:0::

C. 2001:0DB8::1:1:1:1:1

D. 2001:0DB8:130F:0000:0000:7000:0000:140B

Correct Answer: D
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